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Physics Most Important 25 Questions

1. The location of a particle is changed. What can we say about the displacement

& distance covered by the particle?/t® &1 & Rerfd dca Sl 8 1 H91 &)
<1 qT faveua & IR § 1 $8l ol Ghdl 2 |

(1) Both cannot be zero/=i9l =1 <&l 8l W&d
(2) One of the two may be zero/<I9l 4 ¥ U® I 8l I&Hdl @
(3) Both must be zero/g™T I &
(4) Both must be equal/<I- d=1&ex &8I
2. For a moving object, the numerical value of the ratio of magnitude of

instantaneous velocity to instantaneous speed is:/irfasfllal a&q @ drceafldre
AT & URATUT TAT drceldTd a1 & FUTd &1 AiRkegd #1989

(1) Always less than 1/883m 1 | &4
(2) Always equal to 1/893M 1 @ sREx 1
(3) Always more than 1/893m 1 4 SI1<1
(4) Equal to or less than one/1 & &RTER 31dl_HH
3. If the distance covered is zero, then displacement/ afe @1 & 18 §& I &8,
ar favemos
(1) Must be zero/ I[=1 &I
(2) May or may not be zero/3z= & I "&ar g 3 a8 H
(3) Can not be zero/7[=1 & B Adar
(4) Depends upon the particle/®vr o fadR &

4. A particle is under constant acceleration. It's path may be :/®v1 & faad @xoT
@ 3refia wfa &xar 8 | saT1 g 8-

(1) Circle /a<1
(2)Hyperbola/arfaurasa
(3) Parabola /9Rae¥
(4) Ellipse/drarq<
5. Vﬁ\/hich of the following statement(s) is/are wrong:/3-H & &9 d % ald
(A) A body can have constant speed & varying acceleration/U&% a&] &1 4Tl
frraa e vt ufRafd & gedr 2

(B) A body can have zero velocity & uniform acceleration/Ue a¥q @1 a7 I
a1 frad cavor g 9odl © |

(C) A body can have constant velocity & uniform acceleration/T&% a3 &I d7
ffrag 9o UeaHe XYl 81 gadl @

(1) Only C/®daa
(2) Both B & C/=1+B @2inC
(3) Both A & C/ =iFTA @i
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(4) All A, B, C/aa+Y A, B, C
6. Two bodies of masses 1kg & 10 kg are dropped simultaneously from the top

of a tower. On the surface of earth :1kga2m 10 kggaau< #) g1 axg3N &l Ua
el HaRe 3INd @ sist wrdar 21 gedl &) 9dg = —

(1) Heavier will reach first/v¥Y a&q ugad ugaM
(2) Lighter will reach first/ge®! 9% 9gd g afl
(3) Both will reach simultaneously/sI=it a¥qU¢ 11 ugafl
(4) Any one will reach first/®1s t® ygd ggd

7. A body is thrown upward & reaches it's maximum height. At this position :/U®
T Bl SHHEER HUR B X DHI TAT AT 98 IfHad $ars U ggddl 2 |
39 Reafa o= —

(1) It's velocity is zero & it's acceleration is also zero/s¥ O &1 4 dAT @RI
HElRIE R

(2) It's velocity is zero but it's acceleration is maximum/sd axq &I 47T I
TAT X7 AfHad BITT |

(3) It's acceleration is minimum/3¥9 a¥q_ T XTI <JAd9 &I |

(4) It's velocity is zero & it's acceleration is non zero due to gravity/s¥ a%]
T 49 I TAT T[T @RV THd b IR I |

8. Mark the correct statement :/481 & ddIgU—

(1) If velocity & acceleration have opposite sign, then speed of particle will
increase/afe a7 ae2nm @rvl & fuvs faudla &1, 9l ard €] |

(2) If velocity is zero at a instant, then acceleration of particle will be zero at
that instant/afe fe=f &vr a7 =1 81, @ @@=t 3= =8|

(3) If velocity is zero in a time interval then acceleration is not equal to zero

at any instant within the time interval/afe fed W siavta 9 971 3=
gl, di 99 99 3faxrad 9 fedl ot &v1 v @xor 3= ) g

(4) A particle can move along x-axis only. If it's x-coordinate & velocity have

opposite sign the particle will move towards origin/T& & ®dd x-31&1 &

afeer wfa &% d@ar 21 afe g9 x-Fdan® don 371 &1 fas fawda € @t
I8 g fa=g @1 AR g f |

9. Which of the following statements is wrong about a ball thrown vertically up
/U® AT Bl HEieR HUX Bl R DHI TAT 2 | 379 A B9 B Tald 2 |
(A) It is moving with constant acceleration/ I8 ffIId ©@RvT 4@ 9 &1 B |

(B) It may have different velocities at the same position/ I Rerfal W=
BT 49 el 8l Ghdl B |

(C) It may have two positions at the same time/d9 999 4§ <1 3rev1 Reafaat
gl gadl 2 |

(D) The angular momentum of particle about point of projection remain
conserved/y&ifid fA~g ® &l v &1 »ivhia a7 Gxfd <8dr 2 |
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(1) Conly /@aaC
(2)C, D
(3)B,C,D
(4)A,B,C, D

10. For uniform motion the ratio of average velocity & instantaneous velocity is
always :/tdaaE fa @ e 3iad 49 a1 dceifore 49 &1 Surd 89T —
(1) Less than 1 /1 & &9
(2) Greater than 1/1 & are1
(3) Equalto 1 /1 & &RI&R
(4

) None/®1s 181
11. In the given graph which of following physical quantities changes their sign?
Veloeity
- \
o t T tme
-V,

(1) Displacement  /fa=ermu=
(2) Velocity/d
(3) Both (1) and (2) / (1)a (2) ==t
(4) Acceleration/<axor
12. A ruler is dropped vertically through the gap between your thumb and fore
finger. Then find

reaction time if displacement of ruler isev@® ¥heal (ruler)®dl 3MU® deoi-l IR
IS @ 49 4 ddad FRmn omar 21 gfafear 999 @@ &Y A wa
(ruler)®T fazemus 21.0 cm@ |

21.0cm?
(1) 0.2 sec (2) 0.6 sec
(3) 0.8 sec (4) 0.9 sec

13. A ball is dropped from a building of height 45m. Simultaneously another ball
is thrown up with a speed of 40 m/s. Calculate the magnitude of relative
velocity of the balls when both balls are in air :/4sm&<l sIRd AT T &l

R 1] S 99 U guNl T Bl HUN Bl AR 40 m/s® drd d Bl
AT | AR B A™E 37 w1 gRATT F9d feford | 519 g9 | gar H El

(1)0Om/s (2) 20 m/s
(3) 40 m/s (4) 60 m/s
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14. A car is moving on a road, then correct statement is/ds® U R dd & B |

MR EIRECIEN

(1) Car must be in motion for all observers/®RX ufl daal & fou wfa o
=Rl

(2) Car must be at rest for all observers/®R aHl da®l & fov farm d g1 |

(3) Car may be at rest or in motion, depends upon observer/®R &1 faR™
grerar fa dee ux oy exar @

(4) Motion is independent upon the choice of observer/ifa g&red wr fadx
el &l |
15. When a particle is released under gravity, then rate of change of velocity

with respect to distance is :/STd U &Y &l TwHed & IAfId BlIST Sdl & dl
< & Wivel 47 9 yRadd @ &%

(1) Constant/fara xgdt 2 |

(2) Increases continuously/e TIdIR dedl @ |
(

(

3) Decreases continuously/<TIdR el 2 |
4) First increases then decreases/dsa dedl @ fby "edl ©
16 then the path of the stone as seen by the person in a train moving on a

straight horizontal track with constant speed -/v&% =rfdd ddg &R 4 &R &l
R TP UoR SBTadl & o afas eft vedt v g wfa | gad 83 29 #
93 TR Afdd gRT @+ IR S UeR &I U2 I |

(1) Circular/g<T®IR
(2) Parabolic/uxdea
(3) Straight line/xhell Y@
(4) Ellipse/dreqa
17. Which of the following statements is false for a particle moving in a circle

with a constant angular speed ./gdT®R v WX faa «iviig 471 7fow= &1 @

forg o § 9 @i dF T 2 |

(1) Tgr;e vglocity vector is tangential to the circle/dw ufesr 9 & w3 W™

Gl

(2) The acceleration vector is tangential to then circle/<axer wfesr 9 & st
Iefyg glar @

(3) The acceleration vector points towards the centre of the circle/<axvr afesn
g @ d g Pl A AT 8

(4) The velocity and acceleration vectors are perpendicular to each other/d

9 ¥l Afe3 U <O & ofddd Bld ©
18. A boy tries to cross the river and want to reach at the exactly opposite point
on the other bank then what is the necessary relation between vb and vr :-

vb @ velocity of boy ; vr © velocity of river/S<l R &3d UHI Udh dsdI Al &
T fHIR 4 @R fHIR X Rera e wmA arad favg 9x ug=+r argan 2 |
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gfe vb >ds® &I 4, vroTd BT 97
(1) vb < vr (2) vb = vr
(3) vb > vr (4) None of these

19. Which one of the following statements is true?/ffi=9 § 4 99T A A
=

rl) A scalar quantity is the one that is conserved in a process/3ifesr 1f31 a8 2
oif fodl ufebar d avfdra wedl 21

(2) A scalar quantity is the one that can never take negative values/3aifest af31
a8 © ol &) kumcae a8 Bidl |

(3) A scalar quantity is the one that does not vary from one point to another
in space/3rfaer ¥ 98 @ W ST T—3raTT fa=gan wx g w&dl 21

(4) A scalar quantity has the same value for different orientations of the

axes/3&l & == fa=mal © ford ve arfeer ¥ &1 WA 99= 8lar
2 |

20. If in a two dimensional motion, instantaneous speed v0O is a positive
constant. Then which of the following is necessarily true :-/afe fgfasfia  wfa

H dElfore ard VU gFTHG-Idie 8idl 21 df 4 4 9 Sliaar &9 9
gl

(1) The acceleration of the particle is zero/®v &I @xeT I 2 |
(2) The acceleration of the particle is constant/@vT &1 @xvr fFrad 2 |

(3) The acceleration of the particle is necessarily in the plane of motion/@vur
DT <dNUT ATdTH w4 4 TMfd  dol § 8 T

(4) The particle must be undergoing a uniform circular motion/®v1 3Td3TH
®U A TS T g TR BRI

21. If in a two dimensional motion, instantaneous speed vO is a positive
constant. Then which of the following are necessarily true?/fgfasfia wfa 4§

gfe arcealdre dard voud fAadaie 8 df e 4 9 &I99r 249 3a3aed Y 9
g B |

(1) The average velocity is not zero at any timeinterval/ fo<s w9 a1 o
it 4 3= BT
(2) Average acceleration must always vanish/3ilad axor |Had 3= 817 |

(3) Displacement in equal time intervals are equal/d99 W9 3T |
faermu= ff W= B

(4) Equal path lengths are traversed in equal intervals/S9T< 99 3~axTell A
g g & o1 Y g gl |

22. Choose the wrong statement :-/3/9c &9 &I Id9 BN |

(1) Three vectors of different magnitudes may be combined to give zero
resultant./(1)R=1 aR=mor, ara &9 wfest &1 JT I 8 Fodar 2 |
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(2) Two vectors of different magnitudes can be combined to give a zero
resultant./<t ffr=1 aRuToT aral wfee &1 I Y= B bl 2 |

(3) The product of a scalar and a vector is a vector quantity./a1fesr 9 afesr
1T &1 B Ua wfeer i3 s |

(4) Component of a vector can not be greater than the magnitude of the
vector./dfeer &1 gch SO URAOT A ST Ad] 8l Uhdl 2 |
23. If velocity and acceleration remain perpendicular, then particle may
undergo/afe A 9 w@RVT @qad & dl HUT b Tha g
(1) One dimensional motion/v® fa+Ha
(2) Projectile motion/9&i@
(3) Uniform circular motion/t® EHI9 d<ii™g
(4) Non-uniform circular motion/3rH < q<iia
}
(
(

24.In circular motion -/g=fa 7ifa &
1) Acceleration is constant/<axvr faad gidr 2 |

2) Component of acceleration perpendicular to motion must be present/3rfa
P <9dd w@XUl $I Hcd BIAT Ay |

(3) Net work done on particle must be zero/®vT 4R &d &R I BIdT 2 |

(4) Tangential force can not deliver power to the particle/~asf =g o afaa
SO~ A8l ddl @ |

25. In which of the following examples average speed is greater than the

magnitude of a average velocity./ff=1 4 8 foa S<rexvr 4 3ii9d 91 &1 4+
tad a7 & gR=r | 3fSre 8|

(1) Projectile motion/ggiw fa
(2) Circular motion/g<fia wfa
(3) Planetary motion/4g &1 fa
(4) All of the above/SuRiad i
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De”énce*Gurum

Answer Sheet

1. |A |16. |B
2. |B |17.|B
3. |A |18 |C
4, |C |19.|D
5. |A |20. |C
6. |C |21 |D
7. |D |22 |B
8. |[D |23. |C
9. |A |24 |B
10. |C |25 |D
11. B
12. [A
13. | C
14, | C
15. | C
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